oIuBULSH JUIOd 2840

euesns

%

v '2 Juajjedo 9A0390dz0Y $00/202/0Y

Lo/ euess
L0°96¥ 82- ejouoy  <-> 20°96v 82 Wia)|3d BudwWz - |ugAoOdURUI4
05°291 82 IlPzos = 00°0 luazius - 05‘291 82 1uashaz : afepAA
l5'ege- Ilpzos = Jg'see luazius - 00‘0 1uashaz : Awliag

Apepjop ez uiynos Aro)|9)

v00/¥202/0Y :0IsI2 pepioq ‘NPEPjOp JUsZaWQ

L0906V 82- BloJjuoy <-> L0‘96¥ 82 WIS} |82 BUBWZ - JuBAOOURULY

05291 82 lpzos = 00‘0 luszius - 0629} 82 1uashaz : afepAA

L5'cge- IlPzos = sg'cee luazius - 00‘0 1uashaz  Awlilad

v "2 luajjedo an03120dz0y $00/¥Z0Z/0Y "2 PEPIOP €Z UIynog

€6'90T 80T- L0'96% 8T 00‘000 000 T- 00°‘L6E €98 Tueusoxip 3s0xd yoAqopoy3pIy naels Augwg 000 0000 00000 O 000 0000 STTS8
€% 999 1€ LS €€E- 00’000 z¢ 00‘0 Aqron esjexa Axsgsuerl 93el(1id TURTISSAUTON 000 0000 8%€86 0 000 0000 TTIT¥
0o‘zec 1 00'z6€ T 00’0 000 Aqroa guseais Tu23s0yog 000 0000 8%€86 0 000 LTT9 SLTIG

00’622 00’622 000 000 Aqron 3uUA0C3SED 2UA03S3D 000 0000 8%€86 0 000 LTIT9 €LTS

0G'€06 8 05'€68 8 00°0T 00’0 Aqroa Aqznts qeznTs yoruleiso dnyeN 000 0000 8%¥€86 0 000 LTIT9 69TS

€6'TTT ¥ 008T9 €6'€6¥ € 000 Aqros Terasjew szejezeu opull n{erasiew dnyey 000 0000 8%€86 0 000 LTITI9 6€TS
000€0 LT 00°0€0 LT 00‘0 000 Aqroa NOO slepda tugoso Tujle3ISO 000 0000 8¥€86 0 000 LIT9 TZOS
BAOSSNINSN BUBWOY "0 BXISOIE])S B|I|BAYDS

dn Aupestsia euswyz ejep op Aaeadn n3ep y IS mc@_&; uwa\ eyzoTod eaojzpodzoy 0z bao Zl Z ®©N eied TOd
¥202°90°LZ SUp ouSTRAUDS  $Z0OZ 90 6T sup ouaaeadrag

2 pepjoq



